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                            Topic: Improving Sentences                            Chapter: Clauses
A Clause is a group of words containing a Subject and a Finite Verb.

A Noun Clause does the work of a Noun. Therefore, it can be:

· Subject of a Verb; for example: Whether it will rain today is not clear.

· The Object of a Transitive Verb; for example: I wish to know why he has done this.

· The Object of a Preposition; for example: He is ignorant of what is happening.

· Complement of a Verb; for example: His ambition was that he should be a teacher.

· In Apposition to a Noun or the Pronoun: ‘It’. For example: It is a miracle that he is alive.

An Adjective Clause is a subordinate clause that does the work of an Adjective. It qualifies some Noun or Pronoun in the main clause. An Adjective Clause is introduced by a Relative Pronoun or by a Relative Adverb.

· The Relative Pronouns that may be used in this way are: who, whom, what, whose, which, that and so on. For example: God helps those who help themselves.

· The Relative Adverbs that may be used in this way are: when, where, how, why. 

      For example: The reason why he became a recluse is not known.

· The Relative Pronoun or the Relative Adverb may be omitted when it is in the Objective Case, but not otherwise. For example: I am monarch of all (that) I survey.

An Adverb Clause is a subordinate clause that does the work of an Adverb. It may therefore modify some verb, adjective or adverb in the main clause. Adverb Clauses are of many kinds.

· Adverb Clauses of Time
 Adverb Clauses of Time are introduced by the Subordinating Conjunctions like      when, whenever, as soon as, after, while, since, before, till and so on. 

For example: Roger reached the station after the train had left.

· Adverb Clauses of Place

Adverb Clauses of Place are introduced by the Subordinating Conjunctions: where, wherever, whence and so on. For example: You may go wherever you like.

· Adverb Clauses of Manner
Adverb Clauses of Manner are introduced by the Subordinating Conjunctions like as, as if, as though and so on. For example: She talked as if she knew everything.

· Adverb Clauses of Purpose
Adverb Clauses of Purpose are introduced by the Subordinating Conjunctions: that, in order that, so that, lest and so on. For example: He spends little in order that he may save some money.

· Adverb Clauses of Cause
Adverb Clauses of Cause are introduced by the Subordinating Conjunctions: because, as, since and that. For example: I sent her the flowers because I wanted to.

· Adverb Clauses of Condition
Adverb Clauses of Condition are introduced by the Subordinating Conjunctions like if, unless and whether. For example: Unless you work hard, you cannot achieve success.

· Adverb Clauses of Result or Consequence
Adverb Clauses of Clauses of Result or Consequence are introduced by the Subordinating Conjunction that (generally preceded by so or such in the Main Clause), but the Conjunction is sometimes understood. For example: He spoke in such a loud voice that everybody could hear him.

· Adverb Clauses of Comparison
Adverb Clauses of Comparison are of two kinds:

1. Adverb Clauses of Comparison of Degree.

2. Adverb Clauses of Comparison of Manner.

 Adverb Clauses of Comparison of Degree are introduced by the Subordinating Conjunction than, or by the Relative Adverb as. For example: She is younger than she looks.

Adverb Clauses of Comparison of Manner are introduced by the Relative Adverb as.

 For example: As you sow, so shall you reap.

· Adverb Clauses of Supposition or Concession
Adverb Clauses of Purpose are introduced by the Subordinating Conjunctions like though, although and even if. For example: Even if we fail, we must not give up hope.

Practice Questions

Choose the Correct Answer. 

1.

Her constant prayer was for the child might live. 

A: Her constant prayer was for the child might live. 

B: Her constant prayer was said so that the child might live. 

C: Her constant prayer was so that the child might live. 

D: Her constant prayer was that the child might live. 

E: Her constant prayer was the reason that the child might live. 

Correct Answer: D 

Explanation: The Noun Clause ‘that the child may live’ is used as the Complement of a Verb of incomplete predication. The other Choices have faulty idioms and redundant words obscuring the meaning.

2. 

Howsoever he could help his friend was his chief concern.

A: Howsoever he could help his friend was his chief concern.

B: However he could help his friend was his chief concern.

C: How he could help his friend was his chief concern.

D: The manner he could help his friend was his chief concern.

E: The manner in which he could help his friend was his chief concern.

Correct Answer: C

Explanation: The Noun Clause ‘How he could help his friend’ is the Subject of a Verb.

Choice C better expresses the Subject’s ‘concern’ than Choice E. The other Choices have faulty idioms. 

3.

Your statement that you found the money in the street will not be believed.

A: Your statement that you found the money in the street will not be believed.

B: Your statement, in which you had stated that you found the money in the street, will not be believed.

C: Your statement of finding the money in the street will not be believed.

D: Your statement, where you had stated that you found the money in the street, will not be believed.

E: Your statement about finding the money in the street will not be believed.

Correct Answer: A

Explanation: Only Choice A has the proper Noun Clause ‘that you found in the street’ in Apposition to the noun ‘statement’. The phrase ‘of finding’ is grammatically incorrect in Choice C. There are redundant words in Choices B and D. Choice A is better than Choice E as it specifies who found the money.

4.

It is God’s blessing that he has survived.

A: It is with God’s blessing that he has survived.

B: It is God’s blessing that he has survived.

C: It being God’s blessing that he has survived.

D: It for God’s blessing that he has survived.

E: It is due to God’s blessing that he has survived.

Correct Answer: B

Explanation: Choice B is the Best Answer as it has the proper Noun Clause ‘that he has survived’ in Apposition to the Pronoun ‘It’. The words ‘with’, ‘being’, ‘for’ and ‘due to’ are redundant.

5.

The prisoner was taken before the Captain and condemned to instant death.

A: The prisoner was taken before the Captain and condemned to instant death. 

B: The prisoner was taken before the Captain condemning him to instant death. 

C: The prisoner was taken before the Captain, who condemned him to instant death. 

D: The prisoner was taken before the Captain, which condemned him to instant death. 

E: The prisoner was taken before the Captain to condemn him to instant death. 

Correct Answer: C

Explanation: In Choice C the Relative Pronoun ‘who’ is used to introduce a co-ordinate Adjective Clause. It is a better Choice than Choice A where the meaning is slightly obscure. The other sentences have faulty idioms or wrong usage of words.

6.

Uneasy lies the head that wears a crown.

A: Uneasy lies the head wearing a crown.

B: Uneasy lies whose head that wears a crown.

C: Uneasy lies the head on which he wears a crown.

D: Uneasy lies the head over which he wears a crown.

E: Uneasy lies the head that wears a crown.

Correct Answer: E

Explanation: In Choice E an Adjective Clause is introduced by a Relative Pronoun. It is the best Choice. 

7.

Do count your chickens before they are hatched.

A: Do count your chickens before they are hatched.

B: Don’t count your chickens after they are hatched.

C: Do count your chickens when they are hatched.

D: Don’t count your chickens as they are hatched.

E: Don’t count your chickens before they are hatched.

Correct Answer: E

Explanation: This Proverb has an Adverb Clause of Time ‘before they are hatched’. The other Choices distort the original meaning. 

8.

 He was not there, I spoke to his father.

A: He was not there, I spoke to his father.

B: As he was present, I spoke to his father.

C: As he was not absent, I spoke to his father.

D: As he was not there, I spoke to his father.

E: His not being there, I spoke to his father.

Correct Answer: D

Explanation: Only Choice D makes the correct use of Adverb Clause of Cause. In Choice A there is a comma splice. In the other Choices the original meaning is distorted.

9.

The Chinese built in such a way ensuring that their Great Wall is still standing.

A: The Chinese built in such a way ensuring that their Great Wall is still standing.

B: The Chinese built in such a way guaranteeing that their Great Wall is still standing.

C: The Chinese built in such a way that their Great Wall is still standing.

D: The Chinese built in such a way making sure that their Great Wall is still standing.

E: The Chinese built in such a way that their Great Wall will still remain standing.

Correct Answer: C

Explanation: Only Choice C best expresses the Adverb Clause of Result or Consequence.

10.

The troops had marched all day, they fought bravely all night.

A: Troops had marched all day, they fought bravely all night.

B: All though troops had marched all day, they fought bravely all night.

C: All throughout troops had marched all day, they fought bravely all night.

D: Although troops had marched all day, they fought bravely all night.

E: In spite troops had marched all day, they fought bravely all night.

Correct Answer: D

Explanation: Choice D has the correct Adverb of Supposition or Concession beginning with ‘Although…..’. In Choices A and C there are comma splices. Choices B and E have faulty idioms.

                           Topic: Improving Sentences                  Chapter: Punctuation

Punctuation means the right use of putting in Points or Stops in writing. There are three common errors in Sentence Improvement questions regarding Punctuation. 

They are: 1. Run-on Sentence

                2. Comma Splices

                3. Semicolon Errors

1. A Run-on Sentence occurs due to two reasons:

· Inappropriate use of Punctuation

· Two Independent Clauses are not separated with a Conjunction (and, but, or, nor, yet or so) 

For example: Men may come and men may go I go on forever. The correct sentence should be: Men may come and men may go, but I go on forever. The Comma (,) separates short Co-ordinate Clauses of a Compound sentence. The Conjunction ‘but’ separates the two Independent Clauses.

2. Comma Splice is a type of run-on sentence. Here a Comma is used between two Independent Clauses instead of a Period (.) or a Semicolon (;).

For example: Milton was a great English poet, he is famous for writing ‘Paradise Lost’. The correct sentence should be: Milton was a great English poet; he is famous for writing ‘Paradise Lost’.

3. The Semicolon represents a pause of greater importance than that shown by the comma. It is used in the following way-

· To separate the clauses of Compound sentence, when they contain a comma; for example: He was a brave man; and we all respected him.

· To separate a series of loosely related clauses; for example: 

Her court was pure; her life serene;

God gave her peace; her land reposed.

Practice Questions

Choose the Correct Answer

1.

Whenever I go there I find him sleeping.

A: Whenever I go there I find him sleeping.

B: Whenever I go there; I find him sleeping.

C: Whenever I go there but I find him sleeping.

D: Whenever I go there to find him sleeping.

E: Whenever I go there, I find him sleeping.

Correct Answer: E

Explanation: In Choice E a comma is used after an introductory Adverbial Clause. Choice A lacks a proper punctuation. In Choice B there is a semicolon error. The conjunction ‘but’ in Choice C and the infinitive ‘to find’ in Choice D are misplaced as they leave the sentences inconclusive.

2. 

Wise men learn by other men’s mistakes; fools, by their own.

A: Wise men learn by other men’s mistakes; fools, by their own.

B: Wise men learn by other men’s mistakes, fools, by their own.

C: Wise men learn by other men’s mistakes unlike fools, by their own.

D: Wise men learn by other men’s mistakes like fools, by their own.

E: Wise men learn by other men’s mistakes; fools by their own.

Correct Answer: A

Explanation: A semicolon is used to separate independent constructions when they are not joined by conjunctions. There is a comma splice in Choice B. Choices C and E are examples of run on sentences. Choice D lacks sense.

3.

Our army was aware of the danger; nevertheless they marched on.

A: Our army was aware of the danger; nevertheless they marched on.

B: Our army was aware of the danger, nevertheless they marched on.

C: Our army was aware of the danger; nevertheless, they marched on.

D: Our army was aware of the danger, nevertheless, they marched on.

E: Our army was aware of the danger; yet nevertheless, they marched on.

Correct Answer: C

Explanation: A semicolon is used to separate the Principal Clause when the Subordinate Clause begins with ‘nevertheless’. There is a pause after ‘nevertheless’. Choice A lacks proper punctuation. There is a comma splice in Choice B and D. The word ‘yet’ in Choice E is redundant. 

4.

Her brother who is a pilot, has been transferred.

A: Her brother who is a pilot, has been transferred.

B: Her brother, who is a pilot has been transferred.

C: Her brother who is a pilot has been transferred.

D: Her brother, who is a pilot, has been transferred.

E: Her brother who is a pilot; has been transferred.

Correct Answer: D

Explanation: Commas are used to separate a non-defining relative clause from the rest of the sentence. The other sentences have been improperly punctuated.

5.

Rich and poor, young and old, high and low; all must die.

A: Rich and poor, young and old, high and low; all must die.

B: Rich and poor, young and old, high and low all must die.

C: Rich and poor, young and old, high and low face death, all must die.

D: Rich and poor; young and old; high and low all must die.

E: Rich and poor, young and old, high and low, all must die.

Correct Answer: B

Explanation: When words of the same class go together in pairs they are separated by a comma. In Choice C there is a comma splice. The other sentences have been improperly punctuated.

6.

Reading makes a full man conference, a ready man writing, an exact man.

A: Reading makes a full man conference, a ready man writing, an exact man.

B: Reading makes a full man; conference a ready man; writing an exact man.

C: Reading makes a full man; conference makes a ready man; writing makes an exact man.

D: Reading makes a full man, conference a ready man, writing an exact man.

E: Reading makes a full man; conference, a ready man; writing, an exact man.

Correct Answer: E

Explanation: The semicolon is used to integrate small sentences. Choice E is a better sentence than Choice C, which repeats the same verb ‘makes’. To indicate the omission of a verb, a comma has been placed after ‘conference’ and ‘writing’. The other sentences have been improperly punctuated.

7.

The injustice of the sentence, pronounced upon that great scientist and discoverer, is now evident to us all.

A: The injustice of the sentence, pronounced upon that great scientist and discoverer, is now evident to us all.

B: The injustice of the sentence pronounced upon that great scientist and discoverer; is now evident to us all.

C: The injustice of the sentence pronounced upon that great scientist and discoverer, is now evident to us all.

D: The injustice of the sentence pronounced upon that great scientist and discoverer is now evident to us all.

E: The injustice of the sentence pronounced upon that great scientist, and discoverer, is now evident to us all.

Correct Answer: C

Explanation: The comma has been used to separate from the verb a long Subject opening a sentence. The other sentences have been improperly punctuated.

8.

Professor Anthony Woods discovered that, used at extremely low doses, the venomous compound kills the cells that line blood vessels in tumors, but not healthy cells.
A: Professor Anthony Woods discovered that, used at extremely low doses, the venomous compound kills the cells that line blood vessels in tumors; but not healthy cells.

B: Professor Anthony Woods discovered that, used at extremely low doses, the venomous compound kills the cells that line blood vessels in tumors, but not healthy cells.

C: Professor Anthony Woods discovered that, used at extremely low doses, the venomous compound kills the cells that line blood vessels in tumors but not healthy cells.

D: Professor Anthony Woods discovered that, used at extremely low doses, the E: venomous compound kills the cells that line blood vessels in tumors, not healthy cells.

E: Professor Anthony Woods discovered that, used at extremely low doses, the venomous compound kills the cells that line blood vessels in tumors, and not healthy cells.

Correct Answer: B

Explanation: The comma is used before the co-ordinate conjunction ‘but’. In Choice E ‘and’ is incorrect. In Choice A the semicolon is erroneous, Choice C lacks a semicolon while Choice D omits the co-ordinate conjunction. 

9.

The irony is that, while money is responsible for only a small piece of your overall happiness, it can rob you of happiness completely.

A: The irony is that, while money is responsible for only a small piece of your overall happiness, it can rob you of happiness completely.

B: The irony is that while money is responsible for only a small piece of your overall happiness, it can rob you of happiness completely.

C: The irony is while money is responsible for only a small piece of your overall happiness, it can rob you of happiness completely.

D: The irony is while money, is responsible for only a small piece of your overall happiness, it can rob you of happiness completely.

E: The irony is, that while money is responsible for only a small piece of your overall happiness, it can rob you of happiness completely.

Correct Answer: A

Explanation: The comma is used to separate a clause that is not restrictive in meaning, but is co-ordinate with the Principal clause. The other sentences have punctuation errors.

10.

In today’s economy, affording a house, or undertaking an extensive home renovation, means taking on some debt.

A: In today’s economy affording a house or undertaking an extensive home renovation, means taking on some debt.

B: In today’s economy affording a house, or undertaking an extensive home renovation, means taking on some debt.

C: In today’s economy, affording a house or undertaking an extensive home renovation, means taking on some debt.

D: In today’s economy affording a house or undertaking an extensive home renovation means taking on some debt.

E: In today’s economy, affording a house, or undertaking an extensive home renovation, means taking on some debt.

Correct Answer: E

Explanation: Commas are used before and after a Participial phrase, provided that the phrase might be expanded into a sentence, and is not used in a merely qualifying sense.

The other sentences have punctuation errors.
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